Some new results for the generalized bivariate Fibonacci and Lucas polynomials

Nazmiye Yilmaz

ABSTRACT. In this paper, new identities are obtained by using the generalized bivariate Fibonacci and Lucas polynomials. Firstly, several binomial summations and the closed formulas for summation of powers are investigated for these polynomials. Also, general summation formulas, different generating functions, and relations of these polynomials are presented.

1. INTRODUCTION

As well-studied objects in mathematics, the Fibonacci, Lucas, Pell and Chebyshev numbers possess many kinds of generalizations. One of the most important generalizations is the Fibonacci polynomial [1–10]. Due to common usage of this polynomial in applied sciences, some generalizations have been defined in the literature [13, 15, 19, 20]. Some recent work in this direction can be seen in [21–24, 26]. In [12] and its references, a short history and comprehensive information about the Fibonacci polynomial can be found. The Fibonacci numbers are defined as

(1)
$$F_n = F_{n-1} + F_{n-2}, \quad F_0 = 0, \quad F_1 = 1$$

for $n \geq 2$. In [14], the authors gave a new generalization of the Fibonacci and Lucas polynomials which are called h(x)-Fibonacci and h(x)-Lucas polynomials. Then, the authors presented the several studies on generalization of Fibonacci numbers in [16–18]. Also, in [25], the author investigated some arithmetic properties for the (p, q)-Fibonacci and Lucas polynomials associated with the classical Fibonacci and Lucas numbers. In [11], the authors gave a new generalization of the Fibonacci and Lucas polynomials which are called generalized bivariate Fibonacci and Lucas polynomials.

²⁰²⁰ Mathematics Subject Classification. Primary: 11B39.

Key words and phrases. Binomial, Fibonacci polynomials, generating function, Lucas polynomials.

 $Full\ paper.$ Received 5 September 2023, accepted 31 May 2024, available online 17 June 2024.

For $n \ge 2$ and p(x, y), q(x, y) polynomials with real coefficients, the generalized bivariate Fibonacci and Lucas polynomials are described by

(2)
$$H_n(x,y) = p(x,y)H_{n-1}(x,y) + q(x,y)H_{n-2}(x,y),$$

(3)
$$K_n(x,y) = p(x,y)K_{n-1}(x,y) + q(x,y)K_{n-2}(x,y),$$

where $H_0(x, y) = 0$, $H_1(x, y) = 1$, $K_0(x, y) = 2$, $K_1(x, y) = p(x, y)$ and $p^2(x, y) + 4q(x, y) > 0$. The Binet formulas, relation of generalized bivariate Fibonacci and Lucas polynomials are (see[11]):

(4)
$$H_n(x,y) = \frac{\alpha^n(x,y) - (-q(x,y))^n \alpha^{-n}(x,y)}{\alpha(x,y) + q(x,y)\alpha^{-1}(x,y)},$$

(5)
$$K_n(x,y) = \alpha^n(x,y) + (-q(x,y))^n \alpha^{-n}(x,y),$$

(6)
$$K_n(x,y) = H_{n+1}(x,y) + q(x,y)H_{n-1}(x,y),$$

where $\alpha(x, y)$ and $\beta(x, y) = -q(x, y)\alpha^{-1}(x, y)$ are roots of characteristic equations (2) and (3).

For different p(x, y) and q(x, y), we obtain different polynomial sequences by using recursive relation. These polynomial sequences are given in the Table 1.

p(x, y)q(x, y) $H_n(x, y)$ $K_n(x, y)$ Bivariate Fibonacci, $F_n(x, y)$ Bivariate Lucas, $L_n(x, y)$ xy1 Fibonacci, $F_n(x)$ Lucas, $L_n(x)$ x2x1 Pell, $P_n(x)$ Pell-Lucas, $Q_n(x)$ 2xJacobsthal, $J_n(x)$ Jacobsthal-Lucas, $j_n(x)$ 1 -1Chebyshev of the second kind, $U_{n-1}(x)$ Chebyshev of the first kind, $2T_n(x)$ 2x3x-2Fermat, $\mathcal{F}_n(x)$ Fermat-Lucas, $\mathcal{F}_n(x)$

TABLE 1. Special conditions of the generalized bivariate Fibonacci and Lucas polynomials (see [11]).

We would like to mention hereafter that, we use notations $\alpha = \alpha(x, y)$, $\beta = \beta(x, y)$ and p = p(x, y), q = q(x, y) for brevity.

Motivated by the work of [11], we wanted to extend the results on the generalized bivariate Fibonacci and Lucas polynomials. In Section 2, we provide properties for the generalized bivariate Fibonacci polynomials. In Section 3, we obtain identities for generalized bivariate Lucas polynomials that generalize the Lucas polynomials.

2. On properties of generalized bivariate Fibonacci polynomials

We obtain different binomial summations of the generalized bivariate Fibonacci polynomials in the following theorems.

Theorem 1. For $n \ge 1$ and $k \ge 0$ integers, we get

$$\begin{aligned} \text{(i)} \quad \sum_{i=0}^{n} \binom{n}{i} (-q)^{ik} H_{(n-2i)k}(x,y) &= 0; \\ \text{(ii)} \quad \sum_{i=0}^{n} \binom{n}{i} (-1)^{i} (-q)^{ik} H_{(n-2i)k}(x,y) &= \\ \begin{cases} 2(p^{2}+4q)^{\frac{n-1}{2}} H_{k}^{n}(x,y), & n \text{ is odd}; \\ 0, & n \text{ is even.} \end{cases} \\ \text{(iii)} \quad \sum_{i=0}^{n} \binom{n}{i} (-q)^{(n-i)k} H_{ik}^{2}(x,y) &= \frac{K_{nk}(x,y) K_{k}^{n}(x,y) - 2^{n+1} (-q)^{nk}}{p^{2} + 4q}. \end{aligned}$$

Proof. (i) From the equation (4), we write

$$\sum_{i=0}^{n} \binom{n}{i} (-q)^{ik} H_{(n-2i)k}(x, y)$$

$$= \sum_{i=0}^{n} \binom{n}{i} (-q)^{ik} \left(\frac{\alpha^{(n-2i)k} - \beta^{(n-2i)k}}{\alpha - \beta} \right)$$

$$= \frac{1}{\alpha - \beta} \sum_{i=0}^{n} \binom{n}{i} \alpha^{nk - ik} \beta^{ik} - \frac{1}{\alpha - \beta} \sum_{i=0}^{n} \binom{n}{i} \alpha^{ik} \beta^{nk - ik}$$

$$= 0.$$

(ii) Again, from the equation (4), we have

$$\begin{split} &\sum_{i=0}^{n} \binom{n}{i} (-1)^{i} (-q)^{ik} H_{(n-2i)k}(x,y) \\ &= \sum_{i=0}^{n} \binom{n}{i} (-1)^{i} (-q)^{ik} \left(\frac{\alpha^{(n-2i)k} - \beta^{(n-2i)k}}{\alpha - \beta} \right) \\ &= \frac{1}{\alpha - \beta} \sum_{i=0}^{n} \binom{n}{i} (-1)^{i} \alpha^{nk - ik} \beta^{ik} - \frac{1}{\alpha - \beta} \sum_{i=0}^{n} \binom{n}{i} (-1)^{i} \alpha^{ik} \beta^{nk - ik} \\ &= \begin{cases} 2(p^{2} + 4q)^{\frac{n-1}{2}} H_{k}^{n}(x,y), & n \text{ is odd}; \\ 0, & n \text{ is even.} \end{cases} \end{split}$$

(iii) Similarly to (i) and (ii), from the equation (4), we have

$$\sum_{i=0}^{n} \binom{n}{i} (-q)^{(n-i)k} H_{ik}^{2}(x,y) = \sum_{i=0}^{n} \binom{n}{i} (-q)^{(n-i)k} \left(\frac{\alpha^{ik} - \beta^{ik}}{\alpha - \beta}\right)^{2}$$
$$= \frac{1}{(\alpha - \beta)^{2}} \sum_{i=0}^{n} \binom{n}{i} \alpha^{nk+ik} \beta^{nk-ik} - \frac{1}{(\alpha - \beta)^{2}} \sum_{i=0}^{n} \binom{n}{i} 2(-q)^{nk}$$
$$+ \frac{1}{(\alpha - \beta)^{2}} \sum_{i=0}^{n} \binom{n}{i} \alpha^{nk-ik} \beta^{nk+ik}$$
$$= \frac{K_{nk}(x,y) K_{k}^{n}(x,y) - 2^{n+1}(-q)^{nk}}{p^{2} + 4q}.$$

Theorem 2. The identities are hold:

(i)
$$\sum_{k=0} {n \choose k} p^k q^{n-k} H_k(x,y) = H_{2n}(x,y),$$

(ii) $\sum_{k=0}^n {n \choose k} p^k q^{n-k} H_{k+1}(x,y) = H_{2n+1}(x,y)$

Proof.

(i) By using the equation (4), we get

$$\sum_{k=0}^{n} \binom{n}{k} p^{k} q^{n-k} H_{k}(x,y) = \sum_{k=0}^{n} \binom{n}{k} p^{k} q^{n-k} \left(\frac{\alpha^{k} - \beta^{k}}{\alpha - \beta} \right)$$
$$= \frac{q^{n}}{\alpha - \beta} \sum_{k=0}^{n} \binom{n}{k} \left(\frac{p}{q} \right)^{k} \alpha^{k} - \frac{q^{n}}{\alpha - \beta} \sum_{k=0}^{n} \binom{n}{k} \left(\frac{p}{q} \right)^{k} \beta^{k}$$
$$= \frac{1}{\alpha - \beta} \left(p\alpha + q \right)^{n} - \frac{1}{\alpha - \beta} \left(p\beta + q \right)^{n}.$$

By considering well-known equalities $p\alpha + q = \alpha^2$, $p\beta + q = \beta^2$ and again the equation (4), we obtain claimed result.

(ii) By taking into account the equation (4) and above operations, we achieve the desired result.

We take account Theorem 1 to get the formula of sums of any positive powers for the generalized bivariate Fibonacci polynomials.

Theorem 3. For $m, n \ge 1$ integers, we have

$$\begin{split} \sum_{k=0}^{m} H_{k}^{n}(x,y) &= \\ \begin{cases} \frac{1}{2(p^{2}+4q)^{\frac{n-1}{2}}} \sum_{i=0}^{n} \binom{n}{i} \frac{(-1)^{i}C}{(-q)^{n}-(-q)^{i}K_{n-2i}(x,y)+1}, & n \text{ is odd;} \\ \frac{1}{2(p^{2}+4q)^{\frac{n}{2}}} \sum_{i=0}^{n} \binom{n}{i} \frac{(-1)^{i}D}{(-q)^{n}-(-q)^{i}K_{n-2i}(x,y)+1}, & n \text{ is even;} \end{cases} \end{split}$$

where

$$C = (-q)^{mi+n} H_{(n-2i)m}(x,y) - (-q)^{i(m+1)} H_{(n-2i)(m+1)}(x,y) + (-q)^{i} H_{n-2i}(x,y),$$

$$D = (-q)^{mi+n} K_{(n-2i)m}(x,y) - (-q)^{i(m+1)} K_{(n-2i)(m+1)}(x,y) - (-q)^{i} K_{n-2i}(x,y) + 2.$$

Proof. There are two condition for n. If n is odd, from the equation (4) and Theorem 1, we write

$$\begin{split} \sum_{k=0}^{m} H_k^n(x,y) &= \frac{1}{2(p^2 + 4q)^{\frac{n-1}{2}}} \sum_{i=0}^{n} \binom{n}{i} (-1)^i \sum_{k=0}^{m} (-q)^{ik} H_{(n-2i)k}(x,y) \\ &= \frac{1}{2(p^2 + 4q)^{\frac{n+1}{2}}} \sum_{i=0}^{n} \binom{n}{i} (-1)^i \frac{(-q)^{i(m+1)} \alpha^{(n-2i)(m+1)} - 1}{(-q)^i \alpha^{n-2i} - 1} \\ &- \frac{1}{2(p^2 + 4q)^{\frac{n+1}{2}}} \sum_{i=0}^{n} \binom{n}{i} (-1)^i \frac{(-q)^{i(m+1)} \beta^{(n-2i)(m+1)} - 1}{(-q)^i \beta^{n-2i} - 1}. \end{split}$$

By considering a well-known equality $\alpha\beta = -q$, the equations (4) and (5), we obtain

$$\sum_{k=0}^{m} H_k^n(x,y) = \frac{1}{2(p^2 + 4q)^{\frac{n-1}{2}}} \sum_{i=0}^{n} \binom{n}{i} \frac{(-1)^i C}{(-q)^n - (-q)^i K_{n-2i}(x,y) + 1}.$$
secondly, for *n* even, it can be similarly proved.

As secondly, for n even, it can be similarly proved.

We obtain general summations of the generalized bivariate Fibonacci polynomials in the following theorem.

Theorem 4. For $n \ge 1$ and $j, m \ge 0$ integers, we have

$$\begin{split} &\sum_{k=0}^{n-1} H_{mk+j}(x,y) = \\ & \begin{cases} \frac{(-q)^m H_{mn+j-m}(x,y) - H_{mn+j}(x,y) + (-q)^j H_{m-j}(x,y) + H_j(x,y)}{(-q)^m - K_m(x,y) + 1}, & j < m; \\ \frac{(-q)^m H_{mn+j-m}(x,y) - H_{mn+j}(x,y) - (-q)^m H_{j-m}(x,y) + H_j(x,y)}{(-q)^m - K_m(x,y) + 1}, & j \ge m; \end{cases} \end{split}$$

where $(-q)^m - K_m(x, y) + 1 \neq 0$.

Proof. From the equation (4), we write

$$\sum_{k=0}^{n-1} H_{mk+j}(x,y) = \sum_{k=0}^{n-1} \frac{\alpha^{mk+j} - \beta^{mk+j}}{\alpha - \beta}$$
$$= \frac{1}{\alpha - \beta} \left[\alpha^j \frac{\alpha^{mn} - 1}{\alpha^m - 1} - \beta^j \frac{\beta^{mn} - 1}{\beta^m - 1} \right]$$

By considering q well-known equality $\alpha\beta = -q$ and the equation (5), we get

$$\sum_{k=0}^{n-1} H_{mk+j}(x,y) = \frac{1}{\alpha - \beta} \left[\frac{(-q)^m \alpha^{mn+j-m} - \alpha^{mn+j} - \alpha^j \beta^m + \alpha^j}{(-q)^m - K_m(x,y) + 1} \right] - \frac{1}{\alpha - \beta} \left[\frac{(-q)^m \beta^{mn+j-m} - \beta^{mn+j} - \alpha^m \beta^j + \beta^j}{(-q)^m - K_m(x,y) + 1} \right].$$

Again, from equations (4) and (5) we obtain the desired result.

If we take m = 1, j = 0 in Theorem 4, we obtain the following results, also available in [11].

Corollary 1. For $n \ge 1$ integers, we obtain

$$\sum_{k=0}^{n-1} H_k(x,y) = \frac{H_n(x,y) + qH_{n-1}(x,y) - 1}{p+q-1},$$

where $p + q - 1 \neq 0$.

If we take m = 2, j = 0 in Theorem 4, the result is as follows.

Corollary 2. For $n \ge 1$ integers, we have

$$\sum_{k=0}^{n-1} H_{2k}(x,y) = \frac{H_{2n}(x,y) - q^2 H_{2n-2}(x,y) - p}{p^2 - q^2 + 2q - 1}$$

where $p^2 - q^2 + 2q - 1 \neq 0$.

If we take m = 2, j = 1 in Theorem 4, the result is as follows.

Corollary 3. For $n \ge 1$ integers, we get

$$\sum_{k=0}^{n-1} H_{2k+1}(x,y) = \frac{H_{2n+1}(x,y) - q^2 H_{2n-1}(x,y) + q - 1}{p^2 - q^2 + 2q - 1},$$

where $p^2 - q^2 + 2q - 1 \neq 0$.

We obtain the exponential and Poisson generating functions of the generalized bivariate Fibonacci polynomials in the following theorem.

Theorem 5. The identities are hold:

(i)
$$\sum_{n=0}^{\infty} H_n(x,y) \frac{t^n}{n!} = \frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta},$$

(ii)
$$\sum_{n=0}^{\infty} H_n(x,y) \frac{e^{-t}t^n}{n!} = \frac{e^{(\alpha - 1)t} - e^{(\beta - 1)t}}{\alpha - \beta}$$

Proof. (i) From the equation (4) and the MacLaurin expansion for the exponential function, we have

$$\sum_{n=0}^{\infty} H_n(x,y) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\frac{\alpha^n - \beta^n}{\alpha - \beta}\right) \frac{t^n}{n!}$$
$$= \frac{1}{\alpha - \beta} \sum_{n=0}^{\infty} \frac{\alpha^n t^n}{n!} - \frac{1}{\alpha - \beta} \sum_{n=0}^{\infty} \frac{\beta^n t^n}{n!}$$
$$= \frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta}.$$

The proof for (ii) can be done in a similar way to (i).

Further, we present the Vajda identity for generalized bivariate Fibonacci polynomials.

Theorem 6. For n, r, s integers, we have

$$H_{n+r}(x,y)H_{n+s}(x,y) - H_n(x,y)H_{n+r+s}(x,y) = (-q)^n H_s(x,y)H_r(x,y)$$

Proof. Using the equations (4), for the left hand side LHS, we get

$$LHS = \left(\frac{\alpha^{n+r} - \beta^{n+r}}{\alpha - \beta}\right) \left(\frac{\alpha^{n+s} - \beta^{n+s}}{\alpha - \beta}\right) - \left(\frac{\alpha^n - \beta^n}{\alpha - \beta}\right) \left(\frac{\alpha^{n+r+s} - \beta^{n+r+s}}{\alpha - \beta}\right) = (-q)^n \left(\frac{\alpha^s - \beta^s}{\alpha - \beta}\right) \left(\frac{\alpha^r - \beta^r}{\alpha - \beta}\right) = (-q)^n H_s(x, y) H_r(x, y).$$

By taking s = -r = 1 in Theorem 6, we obtain the Cassini identity for generalized bivariate Fibonacci polynomials as Theorem 8 in [11].

Corollary 4. For *n* integers, we have

$$H_{n-1}(x,y)H_{n+1}(x,y) - H_n^2(x,y) = -(-q)^{n-1}.$$

By taking s = m - n, r = 1 in Theorem 6, we obtain the D'Ocagne identity for generalized bivariate Fibonacci polynomials as Theorem 4 in [11].

Corollary 5. For n, m integers, we have

$$H_{n+1}(x,y)H_m(x,y) - H_n(x,y)H_{m+1}(x,y) = (-q)^n H_{m-n}(x,y)$$

By taking r = -s in Theorem 6, we obtain the Catalan identity for generalized bivariate Fibonacci polynomials as Theorem 3 in [11].

Corollary 6. For n, s integers, we have

$$H_{n-s}(x,y)H_{n+s}(x,y) - H_n^2(x,y) = -(-q)^{n-s}H_s^2(x,y).$$

 \square

The following theorem gives us the relationships between the generalized bivariate Fibonacci and Lucas polynomials.

Theorem 7. For $n \ge 2$ integers, we have

- (i) $H_{n+2}(x,y) qH_{n-2}(x,y) = pK_n(x,y),$
- (ii) $(p^2 + 4q)H_n(x, y) + pK_n(x, y) = 2K_{n+1}(x, y).$

Proof. (i) We get together with the equations (2), (3) and (6)

$$H_{n+2}(x,y) - qH_{n-2}(x,y) = pH_{n+1}(x,y) + pqH_{n-1}(x,y)$$

= $pK_n(x,y)$.

Since the proof of (ii) is same as the proof of (i), we omit these proofs to cut the unnecessary repetition. \Box

3. On properties of generalized bivariate Lucas polynomials

In this section, we investigated the generalized bivariate Lucas polynomials. We do not write down all proofs, since they are similar to those in Section 2.

We obtain the different binomial summations of the generalized bivariate Lucas polynomials in the following theorems.

Theorem 8. For $n \ge 1$ and $k \ge 0$ integers, we get

$$\begin{array}{l} \text{(i)} \ \sum_{i=0}^{n} \binom{n}{i} (-q)^{ik} K_{(n-2i)k}(x,y) = 2K_{k}^{n}(x,y), \\ \text{(ii)} \ \sum_{i=0}^{n} \binom{n}{i} (-1)^{i} (-q)^{ik} K_{(n-2i)k}(x,y) = \\ & \left\{ \begin{array}{l} 2(p^{2} + 4q)^{\frac{n}{2}} H_{k}^{n}(x,y), & n \text{ is even}; \\ 0, & n \text{ is odd}; \end{array} \right. \\ \text{(iii)} \ \sum_{i=0}^{n} \binom{n}{i} (-q)^{(n-i)k} K_{ik}^{2}(x,y) = K_{nk}(x,y) K_{k}^{n}(x,y) + 2^{n+1} (-q)^{nk}, \\ \text{(iv)} \ \sum_{i=0}^{n} \binom{n}{i} (-q)^{(n-i)k} H_{ik}(x,y) K_{ik}(x,y) = H_{nk}(x,y) K_{k}^{n}(x,y). \end{array}$$

Theorem 9. The following identities hold:

(i)
$$\sum_{k=0}^{n} \binom{n}{k} p^{k} q^{n-k} K_{k}(x, y) = K_{2n}(x, y),$$

(ii) $\sum_{k=0}^{n} \binom{n}{k} p^{k} q^{n-k} K_{k+1}(x, y) = K_{2n+1}(x, y).$

We take into account Theorem 8 to get the formula of sums of any positive powers for the generalized bivariate Lucas polynomials.

Theorem 10. For $m, n \geq 1$ integers, we have

$$\sum_{k=0}^{m} K_k^n(x,y) = \frac{1}{2} \sum_{i=0}^{n} \binom{n}{i} \frac{D}{(-q)^n - (-q)^i K_{n-2i}(x,y) + 1}$$

where

$$D = (-q)^{mi+n} K_{(n-2i)m}(x,y) - (-q)^{i(m+1)} K_{(n-2i)(m+1)}(x,y) - (-q)^{i} K_{n-2i}(x,y) + 2.$$

We obtain general summations of the generalized bivariate Lucas polynomials in the following theorem.

Theorem 11. For $n \ge 1$ and $m, j \ge 0$ integers, we have

$$\sum_{k=0}^{n-1} K_{mk+j}(x,y) = \begin{cases} \frac{(-q)^m K_{mn+j-m}(x,y) - K_{mn+j}(x,y) - (-q)^j K_{m-j}(x,y) + K_j(x,y)}{(-q)^m - K_m(x,y) + 1}, & j < m; \\ \frac{(-q)^m K_{mn+j-m}(x,y) - K_{mn+j}(x,y) - (-q)^m K_{j-m}(x,y) + K_j(x,y)}{(-q)^m - K_m(x,y) + 1}, & j \ge m; \end{cases}$$

where $(-q)^m - K_m(x, y) + 1 \neq 0$.

If we take m = 1, j = 0 in Theorem 11, we obtain the following results, also available in [11, 21].

Corollary 7. For $n \ge 1$ integers, we have

$$\sum_{k=0}^{n-1} K_k(x,y) = \frac{K_n(x,y) + qK_{n-1}(x,y) + p - 2}{p+q-1}$$

where $p + q - 1 \neq 0$.

If we take m = 2, j = 0 in Theorem 11, the results are as follows.

Corollary 8. For $n \ge 1$ integers, we have

$$\sum_{k=0}^{n-1} K_{2k}(x,y) = \frac{K_{2n}(x,y) - q^2 K_{2n-2}(x,y) + p^2 + 2q - 2}{p^2 - q^2 + 2q - 1},$$

where $p^2 - q^2 + 2q - 1 \neq 0$.

If we take m = 2, j = 1 in Theorem 11, the results are as follows.

Corollary 9. For $n \ge 1$ integers, we have

$$\sum_{k=0}^{n-1} K_{2k+1}(x,y) = \frac{K_{2n+1}(x,y) - q^2 K_{2n-1}(x,y) - pq - p}{p^2 - q^2 + 2q - 1},$$

$$p^2 - q^2 + 2q - 1 \neq 0.$$

We obtain the exponential and Poisson generating functions of the generalized bivariate Lucas polynomials in the following theorem.

Theorem 12. The following identities hold:

(i)
$$\sum_{n=0}^{\infty} K_n(x,y) \frac{t^n}{n!} = e^{\alpha t} + e^{\beta t},$$

(ii) $\sum_{n=0}^{\infty} K_n(x,y) \frac{e^{-t}t^n}{n!} = e^{(\alpha-1)t} + e^{(\beta-1)t}.$

We present the Vajda identity for generalized bivariate Lucas polynomials.

Theorem 13. For n, r, s integers, we have

$$K_{n+r}(x,y)K_{n+s}(x,y) - K_n(x,y)K_{n+r+s}(x,y) = -(-q)^n(p^2 + 4q)H_s(x,y)H_r(x,y).$$

By taking s = -r = 1 in Theorem 13, we obtain the Cassini identity for generalized bivariate Lucas polynomials as Theorem 4.5 in [21].

Corollary 10. For *n* integers, we have

$$K_{n-1}(x,y)K_{n+1}(x,y) - K_n^2(x,y) = (-q)^{n-1}(p^2 + 4q).$$

By taking s = m - n, r = 1 in Theorem 13, we obtain the D'Ocagne identity for generalized bivariate Lucas polynomials as Theorem 4.7 in [21].

Corollary 11. For n, m integers, we have

$$K_{n+1}(x,y)K_m(x,y) - K_n(x,y)K_{m+1}(x,y) = -(-q)^n(p^2 + 4q)H_{m-n}(x,y).$$

By taking r = -s in Theorem 13, we obtain the Catalan identity for generalized bivariate Lucas polynomials as Theorem 4.6 in [21].

Corollary 12. For n, s integers, we have

 $K_{n-s}(x,y)K_{n+s}(x,y) - K_n^2(x,y) = (-q)^{n-s}(p^2 + 4q)H_s^2(x,y).$

We obtain the relationships between generalized bivariate Fibonacci and Lucas polynomials.

Theorem 14. For $n \ge 0$ and $k \ge n$ integers, we get

(i)
$$K_n(x,y)H_k(x,y) - (-q)^n H_{k-n}(x,y) = H_{n+k}(x,y),$$

(ii)
$$K_n(x,y)K_k(x,y) - (-q)^n K_{k-n}(x,y) = K_{n+k}(x,y).$$

If we take k = n in Theorem 14, we obtain the results in [11], as follows.

where

Corollary 13. For $n \ge 0$ integer, we have

- (i) $K_n(x,y)H_n(x,y) = H_{2n}(x,y),$
- (ii) $K_n^2(x,y) 2(-q)^n = K_{2n}(x,y).$

4. Conclusion

In this paper, the generalized bivariate Fibonacci and Lucas polynomials have been investigated. Many of the properties of these polynomials are proved by the fundamental algebraic operations. Actually, the results presented here have the potential to motivate further studies of the subject of the generalized bivariate Fibonacci and Lucas polynomials with negative indices or the bivariate Horadam polynomials including bivariate Fibonacci and Lucas polynomials.

FUNDING

This research did not receive any specific grant from funding agencies in the public, commercial, or not-for-profit sectors.

Declaration of Competing Interest

The authors declare that they have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this paper.

References

- R. Andre-Jeannin, A note on general class of polynomials, Fibonacci Quarterly, 32 (1994), 445–454.
- [2] A. Bala, V. Verma, Some Properties of Bi-Variate Bi-Periodic Lucas Polynomials, Annals of the Romanian Society for Cell Biology, 25 (4) (2021), 8778–8784.
- [3] H. Belbachir, F. Bencherif, On Some Properties of Bivariate Fibonacci and Lucas Polynomials, Journal of Integer Sequences, 11 (2008), Article ID: 08.2.6.
- M. Catalani, Some Formulae for Bivariate Fibonacci and Lucas Polynomials, arXiv preprint arXiv:math.CO/0406323v1, 2004.
- [5] M. Catalani, Generalized Bivariate Fibonacci Polynomials, arXiv preprint arXiv:math/0211366v2, 2004.
- [6] E.E. Duman, N. Tuglu, Generating Functions for the Generalized Bivariate Fibonacci and Lucas Polynomials, Journal of Computational Analysis & Applications, 18 (5) (2015), 815–821.
- [7] Y.K. Gupta, M. Singh, O. Sikhwal, Generalized Bivariate Fibonacci-Like Polynomials, MAYFEB Journal of Mathematics, 1 (2017), 29–36.
- [8] Y. He, W.P. Zhang, Sum relations for Lucas sequences, Journal of Integer Sequences, 13 (2010), Article ID: 10.4.6.
- [9] K. Inoue, S. Aki, Bivariate Fibonacci polynomials of order k with statistical applications, Annals of the Institute of Statistical Mathematics, 63 (1) (2011), 197–210.

- [10] K. Kaygisiz, A. Sahin, Generalized bivariate Lucas p-polynomials and Hessenberg Matrices, Journal of Integer Sequences, 15 (2012), Article ID: 12.3.4.
- [11] E.G. Kocer, S. Tuncez, Bivariate Fibonacci and Lucas Like Polynomials, Gazi University Journal of Science, 29 (1) (2016), 109–113.
- [12] T. Koshy, Fibonacci and Lucas Numbers with Applications, John Wiley and Sons Inc. NY, 2001.
- [13] G.Y. Lee, M. Asci, Some Properties of the (p,q)-Fibonacci and (p,q)-Lucas Polynomials, Journal of Applied Mathematics, 2012 (2012), Article ID: 264842, 1–18.
- [14] A. Nalli, P. Haukkanen, On Generalizing Fibonacci and Lucas Polynomials, Chaos, Solitions and Fractals, 42 (2009), 3179–3186.
- [15] E. Ozkan, I. Altun, Generalized Lucas polynomials and relationships between the Fibonacci polynomials and Lucas polynomials, Communications in Algebra, 47 (10) (2019), 4020–4030.
- [16] Y.K. Panwar, V.K. Gupta, J. Bhandari, Generalized Identities of Bivariate Fibonacci and Bivariate Lucas Polynomials, Journal of Amasya University the Institute of Sciences and Technology, 1 (2) (2020), 146–154.
- [17] Y.K. Panwar, M. Singh, Generalized bivariate Fibonacci-like polynomials, International Journal of Pure Mathematics, 1 (2014), 8–13.
- [18] Y.K. Panwar, M. Singh, V.K. Gupta, Generalized Fibonacci polynomials, Turkish Journal of Analysis and Number Theory, 1 (2013), 43–47.
- [19] H. Prodinger, Sums of the power of Fibonacci polynomials, Proceedings of the Indian Academy of Sciences, 119 (2009), 567–570.
- [20] N. Tuglu, E.G. Kocer, A. Stakhov, *Bivariate Fibonacci Like p-Polynomials*, Applied Mathematics and Computation, 217 (24) (2011), 10239–10246.
- [21] S. Tuncez, Generalized Bivariate Fibonacci and Lucas polynomials, Master Thesis, Konya, Turkey, 2011.
- [22] S. Ucar, On some properties of generalized Fibonacci and Lucas polynomials, An International Journal of Optimization and Control: Theories & Applications, 7 (2) (2017), 216-224.
- [23] C.J.P.R. Velasco, On bivariate s-Fibopolynomials, arXiv preprint arXiv: 1203.6055, 2012.
- [24] V. Verma, A. Bala, On Properties of Generalized Bi-Variate Bi-Periodic Fibonacci Polynomials, International Journal of Advanced Science and Technology, 29 (3) (2020), 8065–8072.
- [25] J. Wang, Some new results for the (p,q)-Fibonacci and Lucas polynomials, Advances in Difference Equations, 2014 (1) (2014), 1–15.
- [26] A. Włoch, Some identities for the generalized Fibonacci numbers and the generalized Lucas numbers, Applied Mathematics and Computation, 219 (10) (2013), 5564–5568.

Nazmiye Yilmaz Karamanoğlu Mehmetbey University Kamil Özdağ Science Faculty Department of Mathematics Karaman Turkey *E-mail address*: yilmaznzmy@gmail.com